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OLAFABRSSAIE A= Al & 20 Y| 3,500
AAREEAIE HE 286,000 214,000 72,000
= 200,000
& 26,000
iy 60,000
401 AIEHIL 20| 286,000 214,000 72,000
= 200,000
& 26,000
= 60,000
01 A& Hl 283,940 212,200 71,740
OARARE=EANE NE 283,940
= 198,560
< 25,813
= 59,567
03 A& 2 0HHI 2,060 1,800 260
OLAAZETAIAE O AES20HI 2,060
= 1,440
o= 187
= 433
ESE2LINEAY 2,137,000 2,000,000 137,000
Xl 1,250,900




SN BIETAYA
HE: g2 2 OFX 33
SRl MBELN LAY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 268,050
s 618,050
Y sHEMEES HE 1,787,000 2,000,000 A 213,000
X 1,250,900
= 268,050
s 268,050
401 Al HIZ 201 I 1,787,000 2,000,000 A 213,000
X 1,250,900
< 268,050
fia 268,050
01 A& HI 1,635,000 1,794,000 A 159,000
OZH sHEHEE HE 1,635,000
Xl 1,144,500
< 245,250
[ia 245,250
02 2eltl 150,000 200,000 50,000
OZH sHEHEE+ HE 2l 150,000
Xl 105,000
= 22,500
e 22,500
03 Al SR THHI 2,000 6,000 A 4,000
OZH sHEMH2E > LY AIER U 2,000
Xl 1,400
< 300
[ia 300
2, 3oL AR SHE M2+ HY 350,000 0 350,000
401 AIEHI L 201 350,000 0 350,000
01 A& HI 350,000 0 350,000
O=&, 3o, MalE sOHE dEass0iYg 350,000
CRaE2 DHALY 507,000 507,000 0
< 152,100
s 354,900
S OAY 507,000 507,000 0
< 152,100
[ia 354,900
401 AIEHI L 2CHEI 507,000 507,000 0
< 152,100
[ia 354,900
01 A& Bl 503,400 503,400 0
Oa==& R HIAY 503,400
< 151,020
e 352,380
03 A& S THHI 3,600 3,600 0
Od=+E RS H 1L AME2UHI 3,600
< 1,080
s 2,520




SN BIETAYA
HE: g2 2 OFX 33
Chel: St 22l (SH9: &)
= (o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ot&E 4= 2el 3,088 3,430 A 342
92s A=+ € U2 222 3,088 3,430 A 342
201 Let24d] 1,088 1,430 A 342
01 At 22/l 1,088 1,430 A 342
Ool=2 TEAE +HAN 242
30,2003 * 50 * 63 * 1.2 1,088
401 AIEHI L 20 2,000 2,000 0
01 A& tl 2,000 2,000 0
OYH=s BSAE E= 2,000
M JIEEeld 232l 1,398,739 2,069,680 A670,941
M dIESet el 1,398,739 2,069,680 A670,941
MgoIsEdely 29 219,787 208,828 10,959
101 @124l 24,155 19,196 4,959
04 JI2ZtHZ22HEE =+ 24,155 19,196 4,959
O&AM2e 22 48,2403 * 120 5,789
OMEBEE 2el4) L 28 xR
48,2403 = 270 13,025
OAZE % F¥ LAY AR
48,2403 = 40 1,930
O a2z 20,744,000& * 16.44% 3,411
201 Let24d] 184,292 176,180 8,112
01 At 2teltl 26,332 18,220 8,112
OMgIISEMeE II=s 2 260,000 » 7H 1,820
O=ZHl gxtz 1,500,000& = 103l 15,000
oozt & 3II83I |
200,000& =« 2CH 400
OMgIISE M E HPES & 4,000
OX&EHIIE HMeltl 600,000& * 53 3,000
OMIIISE M E RABHAAYE R
176,000& » 128 2,112
02 2324l 157,960 157,960 0
OMgIIISEM2E HEH| 64,000
OoXglIsgxdeld IR 85,000
OMeII&segdeld 22l &3l 100
OZfX A2 ] 800,000&  11H 8,800
OMHJIEEME M2 5,000& = 12& 60
202 odl 11,340 11,340 0
01 SLHOYI 11,340 11,340 0
OHIIZXM2ER =& 11,340
MY IS HMelAlE 75X 22 77,452 97,052 A 19,600




EA: BEHLEZAMEA

M MY IISENHCE 2F 2

Ee: MY IISE KAl (2 &HH)
- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 77,452 97,052 A 19,600
01 AP 22| H| 65,452 84,052 A 18,600

OA22 25 s =2, 25H) #¢ 2,300
O&&Exxels SuWE)| HM&EY
1,500,000 * 23] 3,000
OFEsrxes Y&z E3A
500,000 = 33| 1,500
OAa2ES HEE2LH M2 HAH
5,000,000 = 13| 5,000
OMYIIXel & Ex HA 200,000& * 13| 200
O4a2M & Z2&H MA 2,000,000 = 23| 4,000
Og%ElaE 34 8,000
OdFEJ|etE e a2 600,000 = 128 7,200
OXItE HII&EH A& A
1,200,000& = 13 1,200
OA2AE HEEAY FHAA 248
150,000& = 13| 150
OZZ& -UJ] -HIE & Z2AMN =2 25,402
OLABI| L RH;USABE I I A 22
= 1,500
OMYIIEe el d g ASH| 4,800
QHIISHAIA (A2) HAH 1,200
02 23244 12,000 13,000 A 1,000
OJdtgs ¥ &<ZD| X4l 1,000
OJIAH & HIIANE S| 10,000
OHZ2AE ¥ T2 X
200,000 = 53| 1,000

MAHDIISEH2AE M= 8,000 13,800 A5,800
206 TH 2 H 8,000 13,800 A5,800
01 X2 H| 8,000 13,800 A5,800

OMYIIsSEHeHE 4= 1) 5,000
OMeEa8 22d=HE HlE ¥ ottf ¢ 3,000

MHDISEH2IAE B 30,000 30,000 0
401 Al HIZL 2 0HY| 30,000 30,000 0
01 Al&H| 30,000 30,000 0

OAN&EZE &5 - B 30,000

ZAMY I AZAIE AX 480,000 0 480,000
401 AIEHIZ 2 0H Ll 480,000 0 480,000
02 Zeldl 480,000 0 480,000

O ok ZAMY I A2ZAIE X HHHJY
el 249 480,000
METRAS +=HE AX 583,500 0 583,500




HALTAYL
MY IIESEXeld 2F2e
MHIIESE A (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2

401 Al HI 2L 2 0HHI 583,500 0 583,500
01 A& HI 458,500 0 458,500

O MESHEAE &X 458,500
02 2eltl 120,000 0 120,000

O MESEHEAIE X dHMAALZ S2H 120,000
03 A& 20HHI 5,000 0 5,000

O MESHEAE X 20| 5,000
HHSHAH (BH =T AIHA) 378,507 353,412 25,095
Al A 2H 73,604 36,604 37,000
SHEETAIEA 2H 73,604 36,604 37,000
201 Bt A H| 36,604 36,604 0
01 AFR2 22l Yl 1,215 1,215 0

OUctEH oOlx42 20,000& = 5021 1,000

OXs X ZALZ 215

-3l = 175

e 35,000& = 200 * 23] 140

== 35,000& = 100 *~ 13 35

= 4| 40,0003 « 104 ~ 13] 40
02 352494l 35,389 35,389 0

OXS A 380

-S& Xt 100

=g 100

-St=2 Xt 280

- CH&(89015277) 120

CH& (94041005) 120

A& (89716684) 40

OXNSXHEE= 2,890

-S& 500

= 500

-3t 2 Xt 2,090

- & (890t5277) 680

- CH& (94DH1005) 900

- 8 (93%6684) 510

-= 4] 300

Oo=tdideeg2 500

OX& = XYl 31,619

-S& 5,000

=g 5,000

st = Xt 14,619

- & (890+5277) 5,000




SN BIETAYA
H: HYHAAH| (BT AIEA)
ool AL 2 CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@i HRE2
- CH& (94011005) 6,000
A& (9336684) 3,619
-= A 12,000
405 XHAHFEIEHI 37,000 0 37,000
01 JHAHE 2 Z 5 S H 37,000 0 37,000
OHAEXE HNS 37,000,000& = 1CH 37,000
J23H(BEE=TAEA) 39,180 42,498 AN3,318
2 (BZB =T AEA) 39,180 42,498 A3,318
201 et 9| 31,332 34,650 AN 3,318
01 At 2t2l ] 31,332 34,650 N3,318
OJIE2x=2Hl| 12,312
OPIE=T=2=3:] 4,860
Og A 60,000 * 2 = 118Y 14,160
202 044l 3,024 3,024 0
01 2L I 3,024 3,024 0
OBF2TALA J2de =7 3,024
203 R F & 4,824 4,824 0
02 AAAIAAH 2 =R Y| 1,044 1,044 0
OZX& AFJ| &2 A
40,000€¢ = 299 * 90/100 1,044
04 EASHEIRFAH| 3,780 3,780 0
OBZLTANYL SHSAALEXY|
350,000€¢ = 12€ * 90/100 3,780
OIHSHY| (S AT ALY A) 265,723 274,310 N8,587
QIAH| (B E LT A A) 265,723 274,310 N 8,587
101 124 H| 265,723 274,310 N8,587
01 2 58,960 71,546 N 12,586
OBAHALT AL A A2UHA22 S (21A124) 58,960
02 JIEtE 2 % 10,234 15,563 N5,329
OBZLTAMYL HAAE AAADR2 (1]
Al2H) 10,234
03 I HLsZ22 N 196,529 187,201 9,328
OMYIIES Ml 222 o182 (4H) 195,873
Oga 22 o= 656
&= 17,000& * 4% * 23| 136
-gtet=s 30,000& * 4¥H x 13| 120
-2 9 4,000& * 4% * 23| 32
-otAM 3t 20,000& * 4 x 13| 80
-8t XIotA 3 6,000& * 4Y * 123 288
MEES (BT AIEA) 4,537,367 3,255,439 1,281,928




2N
X ZH -
L= B

el

SA - BB B () - MM - BES Ol &t o San HmEET
UWEAHANXE (LT AE L) 4,537,367 3,255,439 1,281,928
HEHAH X = 4,537,367 3,255,439 1,281,928
701 JIEt3I HEEES 4,537,367 3,255,439 1,281,928
01 JIEtl HEES 4,537,367 3,255,439 1,281,928
d=TSEIH HES 365,628
O+=ZMNLEEIAN HES 4,171,739




